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M.A. IN GENDER AND DEVELOPMENT 
STUDIES (MAGD) 

Term-End Examination 

MGSE-002 : GENDER AUDIT AND GENDER 

BUDGETING 

Time : 3 Hours] 	 [Maximum Marks : 100 

Note: Attempt any five questions. All questions carry 

equal marks. 

1. (a) Define and distinguish a 'budget' and 'gender 

budget'. 	 10 

(b) What are objectives of gender budgeting? 

Explain the steps to be followed in preparing 

gender budgets. 10 

2. Explain the gender budgeting initiatives of South 

Africa and India. 	 20 

3. Examine the five year plans of government of India 

from gender perspective with suitable examples.20 

4. Discuss in detail any two expenditure tools used 

to prepare gender budgeting. 	 20 



5. Examine the need for engendering 

macroeconomic policies with the help of examples 

drawn from any two macro economic sectors. 20 

6. Explain the gender budgeting process of Tumkur 

Municipality and Tikota Panchayat in detail. 20 

7 	"Kerala is in the forfront in implementing gender 

budgeting at all levels of government." Justify this 

statement with suitable examples. 	 20 

8. 	Write short notes on any four  of the following: 

4x5=20 

(a) Women's Component Plan 

(b) Social Audit 

(c) Accountability 

(d) Practical Gender needs 

(e) Working group of feminist economists. 
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